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A translation does not change the

#1

Translations Practice
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Translate ARST 5 units left and 2 units up.
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What is the algebraic representation of this translation?
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of the figure.

, you slide a figure from one position to another without turning it.
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#2: The vertices of a figure are X(-4, 1), Y(-4, 3), Z(0, 3). Find the vertices of triangle X'Y'Z" after

a translation of 3 units to the right and 1 unit down. Then graph the triangle and its image.
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Name: Translations Practice
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#3: Point A(4, 5.5) is translated 8 units to the right and 11 units up. What is the algebraic
representation of this translation? What are the coordinates of 4°?
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#4: Point B(-3, 4) is translated 3 units to the left and 2 units down. What is the algebraic
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representation of this translation? What are the coordinates of B>?
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#5: Point C(6, 4) was mapped to C’(11, 2) by a translation. What translation was used? What
is the algebraic representation of this translation?
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#6: Figure MNP has coordinates M(-1, 1), N(0, 5), and P(-5, 5). Find the vertices of the figure
after the translation (-1, 5). What is the algebraic representation of the translation?
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#7. A figure has vertices A(-7, 2), B(-5, 3.5), and C(1, 0). If the figure is translated 6 units right X'“a )
and 2 units up, what will be the coordinates of 4’B’C*? What is the algebraic representation of 4t 2
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#8: Triangle KLM is translated so that K is mapped to K>. What is the algebraic representation
of this translation? Determine the coordinates of KL °M”.
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